Homework 2

Question 1

Solve the following differential equations using classical methods. Assume zero initial
conditions.

Cx 6% 0x = sult
dt? dt x = 5u(®)

Repeat the question using Laplace transform, assuming zero initial conditions.



Question 2

Find the transfer function, G(s) = X2(s)/F(s), for the system shown below:

™9 =5Nm "

K1=2N/m




Question 3
Represent the following transfer function in state space.

s(s+2)

T = G DGz r2579)




Questions 4

Find the transfer function G(s) = ;Eg for the following system represented in state space:
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